CHEMISTRY

BOOKS - DISHA PUBLICATION CHEMISTRY
(HINGLISH)

THE s-BLOCK ELEMENTS

Jee Main 5 Years At A Glance

1. Lithium aluminium hydride reacts with silicon

tetrachloride to form :



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_gysl3YjoWvmL

B. L’I,Cl, AlCl3 and SZH4

C. L’LH, AlClg and SZClz

D. L’LH, Ang and SZH2

Answer: B

o View Text Solution

2. Which one of the following is an oxide ?

A. KO,

B. BCL02

C. 510,


https://dl.doubtnut.com/l/_gysl3YjoWvmL
https://dl.doubtnut.com/l/_Whfc8vEWAMua

D. 0802

Answer: D

o Watch Video Solution

3. The correct order of the solubility of alkaline- earth

metal sulphates in water is :

A Mg > Ca > Sr > Ba

B.Mg > Sr > Ca > Ba

C.Mg < Ca < Sr < Ba

D. Mg < Sr < Ca < Ba


https://dl.doubtnut.com/l/_Whfc8vEWAMua
https://dl.doubtnut.com/l/_82DuH3IOAelP

Answer: B

° Watch Video Solution

4. The commerical name for calcium oxide is :

A. Quick lime

B. Milk of lime

C. Slaked lime

D. Limestone

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_82DuH3IOAelP
https://dl.doubtnut.com/l/_QZw3XQTV1l4P

5. The main oxides formed on combustion of Li,Na

and K in excess of air respectively are

A. L’I:202, Na202 and K02

B. LiyO, Na;Os and KO,

C. L’izO, NCIQO and K02

D. LiOy, NasO5 and K50

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_QZw3XQTV1l4P
https://dl.doubtnut.com/l/_o046A1KwABqj

6. The correct order of thermal stability of hydroxides

IS :

Ba(OH), < Ca(OH), < Sr(OH), < Mg(OH),

Mg(OH), < Sr(OH), < Ca(OH), < Ba(OH),

Mg(OH), < Ca(OH), < Sr(OH), < Ba(OH),

Ba(OH, < Sr(OH), < Ca(OH), < Mg(OH),


https://dl.doubtnut.com/l/_iAAq3l1eH2Xn

Answer: A

o View Text Solution

7. Which of alkaline earth metal halides given below is

essentially covalent in nature?

A. SrCl,

B. CCLClz

C. BCLCZQ

Answer: D

.y l


https://dl.doubtnut.com/l/_iAAq3l1eH2Xn
https://dl.doubtnut.com/l/_vk8Vs1Bcx8MX

| ¥ vvatch vVideo Solution ]

8. Which one of the following alkaline earth metal

sulphates has its hydration enthalpy greater than its

lattice enthalpy?

A. BCLSO4

B. STSO4

C.CaSO0y

D. BGSO4

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_vk8Vs1Bcx8MX
https://dl.doubtnut.com/l/_jP7D0WQW5xzK

9. Which of the following statements about NayOs is
not correct?
A. It is diamagnetic in nature
B. It is derivative of H,O,
C. Na,O, oxidises Cr3" to CrO;  in acid
medium.

D. It is the supar oxide of sodium

Answer: D

° View Text Solution



https://dl.doubtnut.com/l/_mNvJgYhxkODn

Exercise 1 Concept Builder Topicwise Topic 1 Preparation

And Properties Of Alkali Metals And Their Compounds

1. lonisation enthalpy of Na would be same as

A. electron affinity of Na ™
B. electronegativity of Na*
C. electron affinity of He

D. ionization potential of Mg

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_ZEv76qb4f3Bb

2. Which compound will show the highest lattice

energy ?

A. RbF

B.CsF

C. NaF

D. KF

Answer: C

o Watch Video Solution

3. Strongest bond is in between


https://dl.doubtnut.com/l/_f87J73u8PrNv
https://dl.doubtnut.com/l/_GScATftZUnO0

A.CsF

B. NaCl

C.L:Br

D. None of above

Answer: A

° View Text Solution

4. In the crystals of which of the following ionic
compounds would you expect maximum distance

between the centres of the cations and anion?

A LiF


https://dl.doubtnut.com/l/_GScATftZUnO0
https://dl.doubtnut.com/l/_ufh7bok3o9xc

B.CsF

C.CsI

D. Lil

Answer: C

o Watch Video Solution

5. Which of the following is not correct?

A.2Li,0 7—> Lis Oy + 2L3
673K

hea
B.2K,0 —— K,0y + 2K
673K

C. 2NCL20 —> Na202 + 2Na
673K


https://dl.doubtnut.com/l/_ufh7bok3o9xc
https://dl.doubtnut.com/l/_JvxIkLtYZvEo

hea
D. 2RbyO % RbyO, + 2Rb
673K

Answer: A

o View Text Solution

6. The ionic mobility of alkali metal ions in aqueous

solution is maximum for:

A Lit

B. Na™

CKT™

D.Rb"


https://dl.doubtnut.com/l/_JvxIkLtYZvEo
https://dl.doubtnut.com/l/_Blg4YKYH7rSG

Answer: D

o Watch Video Solution

7. Which of the following does not illustrate the

anomalous properties of lithium?

A. The melting point and boiling point of Li are

comparatively high.

B. Li is much softer the other group | metals.

C. Li forms a nitride Li3 N unlike group | metlas.

D.The ion of Li and its compounds are more

heavily hydrated than those of the rest of the


https://dl.doubtnut.com/l/_Blg4YKYH7rSG
https://dl.doubtnut.com/l/_9YHRS3cxvRu8

group.

Answer: B

o Watch Video Solution

8. Which of the following statements is incorrect

A. Alkali metal hydroxide are hygroscopic.

B. Dissolution of Alkali metal hydroxide is

endothermic.

C. Aqueous solution of alkali meta hydroxides are

strongly basic.


https://dl.doubtnut.com/l/_9YHRS3cxvRu8
https://dl.doubtnut.com/l/_NRHKQGhr0YzA

Answer: B

° Watch Video Solution

9. Which is mot basic in character?

A.CsOH

B.KOH

C. NaOH

D. LiOH

Answer: A


https://dl.doubtnut.com/l/_NRHKQGhr0YzA
https://dl.doubtnut.com/l/_IusrKRZrtesQ

o View Text Solution

10. An inorganic compound which on heating first

melts, then solidifies and liberates O, gas the

inorganic compound is

A. Al,O3

B. KMTLO4

C. Mn02

D. KClO;

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_IusrKRZrtesQ
https://dl.doubtnut.com/l/_a8kQHEgEjSc2

11. The element which on burning in air gives proxide

is

A. lithium

B. sodium

C. rubidium

D. cesium

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_a8kQHEgEjSc2
https://dl.doubtnut.com/l/_doK74id9pEso

12. Which of the following is known as fusion mixture

?
A. Mixture of NayCO3; + NaHCOs;
B. NCLQCO?).].OHQO
C. Mixture of K;CO3; + Nay;CO;4
D. NCLHCO?,

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_7mF1nRH9uEPn

13. The dominant cation in the blood plasma

(extracellular fluid) is

A. potassium

B. calcium

C. magnesium

D. sodium

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_OPNFwLqNsV8X

14. Among LiI, Nal, KI the one which is more ionic

and more soluble in water :

A KI

B. Nal

C.LiI

D. None of these

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_I8ImWmpFeipX

15. Based on lattice energy and other considerations

which one of the following alkali metal chlorides is

expected to have the highest melting point

A. NiCl

B. NaCl

C. KCl

D. RbCI

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_R6sq6OvByEpK

16. The correct order of radii is A)N < Be < B B)
F~ <0 <N QFe&T < Fe?t < Fe*t D)
N<Li< K

A Li < Be < Mg

BH" <Li<H

C.MnT < Mn?>T < Mn™"

DK™ >Cl- > 8%

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_rvdsQr1JdiF7

17. The melting point of lithium (181°C) is just

double the melting point of sodium (98° (') because

A.down the group, the hydration energy
decreases.
B.down the group, the ionization energy
decreases.
C.down the group the cohesive energy decreases.

D. none of these

Answer: C

° View Text Solution



https://dl.doubtnut.com/l/_toEcZM8gH3wE

18. Alkali metals are generally extracted by

A. reduction methods.

B. displacement methods.

C. electrolytic methods.

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_toEcZM8gH3wE
https://dl.doubtnut.com/l/_4Epaw9TYJskD

19. Which of the following has the least ionization

potential ?

A. Li

B.He

C.N

D. Zn

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_GnMvdrUEJUSz

20. Fires, that result from the combustion of alkali

metals can be extinguished by

A.CCly

B. sand

C. water

D. kerosene

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_LA9gmyu2U4Qp

21. The stability of the following alkali metal chlorides

follows the order:

A.LiCl > KCl > NaCl > CsCl

B.CsCl > KCl > NaCl > LiCl

C. NaCl > KCIl > LiCl > CsCl

D. KCl > CsCl > NaCl > LiCl

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_IDLVunNnQ1HD

22. The order of solubility of lithium halides in non-

lolar solvents follows the order

A.Lil > LiBr > LiCl > LiF

B.LiF > Lil > LiBr > LiCl

C.L:Cl > I:F > LiBr > LiCl

D.LiBr > LiCl > LiF > Lil

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_hY0XvoZf7iSI

23. Alkali metals form peroxides and superoxides

except

A. Na

B. Rb

C.L:

D.Cs

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_6qgIQfVzHEjF

24. Which of the following is used as a source of
oxygen in square capsules, submarines and breathing

masks?

A. Li,O

B. NCL202

C. KO,

D. K202

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_h3Nwt8yeRcyO

25. Which of the following statements is false for
alkali metals ?

A. Lithium is the strongest reducing agent.

B. Sodium is amphoteric in nature.

C. Li™ is exceptionally small.

D. All alkali metals give blue solution in liquid

ammonia.

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_ge7ziklj9lMh

26. Which of the following statements is correct for
CsBrs?

A. It is a covalent compound.

B. It contains C's*" and Br ™ ions.

C. It contains Cs™ and Br; ions

D.It contains Cs™, and Br~ and lattice Br,

molecules.

Answer: C

° View Text Solution



https://dl.doubtnut.com/l/_BEWo0tRu0Rli

27. The solubility order for alkali metal fluoride in

water is :

A.LiF < RbF < KF < NaF

B.RbF < KF < NaF < IiF

C.LiF > NaF > KF > RbF

D.LiF < NaF < KF < RbF

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_vf1pbay3eI5X

28. An alloy of which pair of metals is liquid at
ordinary temperature and is used in special
thermometers used for finding temperatures above
the boinding point of mercury.

A.Na and Hg

B.K and Hg

C. Na and K

D. None of these

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_Sql0UsTmEtvc
https://dl.doubtnut.com/l/_z8i9cPKdFkSD

29. An alkaline metal oxide which is soluble in NaOH

has

A. NaCl structure

B. wurzite structure

C. CUsCl structure

D. rutile structure

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_z8i9cPKdFkSD

30. The alkali metals which form

peroxides as well as super oxides are :

A. Na, Lz

B. K, Li

C.L:i, Cs

D. K, Rb

Answer: D

normal oxide,

o Watch Video Solution



https://dl.doubtnut.com/l/_q2allYWRhWLs

31. Which of the following compounds are

paramagnetic in nature?

A. KO,

B. K202

C. Na202

D. NCL2 02

Answer: A

o Watch Video Solution

Exercise 1 Concept Builder Topicwise Topic 2 Some

Important Compounds Of Sodium



https://dl.doubtnut.com/l/_W3lqmd779gOb

1. When sulphur is heated with NaOH (aq) the

compounds formed are:

A. NCL2S + HQS

B. NCLQSO?, + HQO

C. NCLzS + Na25203 + H2O

D. NCI,2S203 + H2O

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_ios44aqhbR34

2. If NaOH is added to an aqueous solution of Zn?*
ions a white precipitate apperars and on adding
excess of NaOH, the precipitate dissolves. In this

solution Zinc exists in

A. cationic part.
B. anionic part.
C. both in cationic and anionic parts.

D. there is no zinc left in the solution.

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_HiJtenzPhIkI
https://dl.doubtnut.com/l/_EMAmOuVb3HyD

3. An aqueous solution of salt 'R' when treated with
dil. HCI, a colourless gas is given out. The gas so
evolved when passed through acidified KMnO,
decolourises K MnQ, solution.
The salt 'R'is

A. Na2003

B. NCLClO3

C. NCLNOQ

D. NCIQSO?,

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_EMAmOuVb3HyD

4. On being placed in water , sodium peroxide not
only produces an alkaline solution but also some
bubbles . If we assume that the peroxide ion picks up
two protons from water to produce a compound that
can be seen as the dibasic conjugate acid of peroxide
ion and then this compound undergoes a redox
disproportion . Using the above the information
complete the following equation :

Nay0,(s) + Hy0(1) — (4)(ag) + (B)(9)-

(A) and (B) are :

A. H202 and NaOH

B. H,O and O,


https://dl.doubtnut.com/l/_Ikc6UhcpocLz

C. NaOH and O,

D. NayO and NaOH

Answer: C

o Watch Video Solution

5. Common table salt becomes moist and does not

pour easily in rainy season because

A. it contains magnesium chloride.

B. it contains magnesium carbonate.

C. it metals slightly in rainy season.


https://dl.doubtnut.com/l/_Ikc6UhcpocLz
https://dl.doubtnut.com/l/_eDEUfGzVUUoJ

D. sodium chloride is hygroscopic.

Answer: A

o View Text Solution

6. Sodium thiosulphate, NayS,03.5H50 is used in

photography to

A.reduce the silver bromide grains to metallic

silver.

B. convert the metallic silver to silver salt.


https://dl.doubtnut.com/l/_eDEUfGzVUUoJ
https://dl.doubtnut.com/l/_xT9F2DGZv7Xs

C.remove undecomposed AgBr as soluble silver

thiosulphate complex.

D. remove reduced silver.

Answer: C

o Watch Video Solution

7. Sodium carbonate solution in water is alkaline due

to

A. hydrolysis of Na ™

B. hydrolysis of COj3


https://dl.doubtnut.com/l/_xT9F2DGZv7Xs
https://dl.doubtnut.com/l/_rumDKwB2NpDg

C. hydrolysis of both Na* and C’Og_ ions

D. none of these

Answer: B

o View Text Solution

8. Which of the following statement is incorrect

A. Pure sodium metals dissolves in liquid ammonia

to give blue solution.

B. NaOH reacts with glass to give sodium

silicate.


https://dl.doubtnut.com/l/_rumDKwB2NpDg
https://dl.doubtnut.com/l/_F6O94x7r3bxD

C. Aluminium reacts with excess NaOH to give
Al(OH),.

D. NaHCOj3 on heating gives NayCOs.

Answer: C

o Watch Video Solution

9. A fire extinguisher contains Hy SO, and

A. NaHCO3 and NasCOs4

B. NCLQCO3

C. NCLHCO?,


https://dl.doubtnut.com/l/_F6O94x7r3bxD
https://dl.doubtnut.com/l/_I8yGHwU05OuC

D. C(ICO3

Answer: A

o Watch Video Solution

10. Which of the following statements about NayO,

is not correct?
A. It is diamagnetic in nature
B. It is derivative of H,0-
C.Na_(2)0 (2) oxidation Cr3* to CrO;  in

acid medium.



https://dl.doubtnut.com/l/_I8yGHwU05OuC
https://dl.doubtnut.com/l/_ZhtKaQbz717j

D. It is the super oxide of sodium.

Answer: D

o View Text Solution

11. Sodium cobaltinitrite is used in the detection of

A K

B. Ca

C.Sr

D. Ba

Answer: A


https://dl.doubtnut.com/l/_ZhtKaQbz717j
https://dl.doubtnut.com/l/_pjrfQLQdh2ui

o Watch Video Solution

Exercise 1 Concept Builder Topicwise Topic 3 Preparation
And Properties Of Alkaline Earth Metals And Their

Compounds

1. Amongst the metal Be, Mg, Ca and Sr of group 2 of

the periodic table, the least ionic chloride would be

formed by

A. Be

B. Mg

C.Ca


https://dl.doubtnut.com/l/_pjrfQLQdh2ui
https://dl.doubtnut.com/l/_X6681HB5UMmi

D. Sr

Answer: A

° Watch Video Solution

2. Which one is known as barytes?

A. BCLSO4

B. BCLCZQZHZQO

C. BaO

D. BCLCOg

Answer: A


https://dl.doubtnut.com/l/_X6681HB5UMmi
https://dl.doubtnut.com/l/_Zf4lnKhLp4LL

o Watch Video Solution

3. Which of the following salt does not impart colour

to the flame?

A KI

B. LiCl

C. CCLClz

D. MgClz

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_Zf4lnKhLp4LL
https://dl.doubtnut.com/l/_vaVq2K2h72qT
https://dl.doubtnut.com/l/_OnTmlPvPI0Gc

4. Which of the following compunds is used in

preparation of green fire?

A K350,
B. NCLNOg
C. Ba(N03)2

D. None of these

Answer: C

o Watch Video Solution

5. Lithopone is a mixture of


https://dl.doubtnut.com/l/_OnTmlPvPI0Gc
https://dl.doubtnut.com/l/_f5xm3C882irS

A. BaO + ZnSO,

B. Ba$S + ZnOy

C. ZnS + BCLSO4

D. ZnO + BaSO,

Answer: C

° Watch Video Solution

6. The mixture of MgCl, and MgO is called

A. portland cement

B. sorel's cement



https://dl.doubtnut.com/l/_f5xm3C882irS
https://dl.doubtnut.com/l/_mekyeLaYEr4f

C.double salt

D. none of these

Answer: B

o Watch Video Solution

7. Estimation of calcium and magnesium is done by

A. EDTA

B. oxalate

C. phosphate

D. none of these


https://dl.doubtnut.com/l/_mekyeLaYEr4f
https://dl.doubtnut.com/l/_4m9VnCUr6ES5

Answer: A

o View Text Solution

8. Philosopher's wool when heated with BaO at

100° C gives the compounds:

A. Ba + ZnCl,

B. BaCd02

C. BaZnOz

D. BCL02 + Zn

Answer: C

.y l


https://dl.doubtnut.com/l/_4m9VnCUr6ES5
https://dl.doubtnut.com/l/_RzaagPlDKRPq

| ¥ vvatch video Solution ]

9. Arrange the following compounds in order of

increasing solubility

(i) MgF, (ii) CaF, (iii) BaF;
A (1) < (i) < (¢i9)
B. (i7) < () < (di1)

D. (i14) < (ii) < (d)

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_RzaagPlDKRPq
https://dl.doubtnut.com/l/_TJ3Ue85hHHQV

10. The first ionization potential of Mg is

A. less than Al

B. more than Al

C. equal to Al

D. can be less or more than Al

Answer: B

o Watch Video Solution

11. Which one of the following alkaline earth metal

sulphates has its hydration enthalpy greater than its


https://dl.doubtnut.com/l/_wC2eKyQEsZUI
https://dl.doubtnut.com/l/_1ckOE9R7JVXB

lattice enthalpy?

A. C’aSO4

B. BBSO4

C. BCLSO4

D. 5750,

Answer: B

° Watch Video Solution

12. BaO5 and ozone reacts to produce

A. Ba


https://dl.doubtnut.com/l/_1ckOE9R7JVXB
https://dl.doubtnut.com/l/_WGrJfA3ZCgZd

B. BCL203
C. BaO

D. Ba(OH),

Answer: C

o Watch Video Solution

Exercise 1 Concept Builder Topicwise Topic 4 Some

Important Compounds Of Calcium

1. Which one of the following is flourspar?

A. CCLF2


https://dl.doubtnut.com/l/_WGrJfA3ZCgZd
https://dl.doubtnut.com/l/_4sPDW3LnXdyi

B.CaO

C. H,F,

D. CCLCO?,

Answer: A

o View Text Solution

2. Gypsum ion heating at 120 — 130° C' gives:

A. anhydrous salt

B. hemihydrate

C. monohydrate


https://dl.doubtnut.com/l/_4sPDW3LnXdyi
https://dl.doubtnut.com/l/_GsAsQgmmRfbO

D. dihydrate

Answer: B

o Watch Video Solution

3. Melting point of calcium halides decreases in the

order

A.CaFy > CaCly > CaBr > Cal,

B.Caly, > CaBry > CaCly > CakFy

C.CaBry > Caly, > CaFy > CaCl,

D.CaCly > CaBry > Cal, > CaF,


https://dl.doubtnut.com/l/_GsAsQgmmRfbO
https://dl.doubtnut.com/l/_7f9aWhxBhfwo

Answer: A

o View Text Solution

4. Chemical A is used for water softening to remove
temporary hardness. A reacts with sodium carbonate
to generate caustic soda. When CO, is bubbled
through a solution of A, it turns cloudy. What is the

chemical formula of A?

A. CCLCO?,
B.CaO

C.Ca(OH),


https://dl.doubtnut.com/l/_7f9aWhxBhfwo
https://dl.doubtnut.com/l/_sAtPmSg29xem

D. Ca(HCO),

Answer: C

o Watch Video Solution

5. The oxalate of which of the following elements is

component of most kidney stones

A. Potassium oxalate

B. Barium oxalate

C. Sodium phosphate

D. Calcium oxalate


https://dl.doubtnut.com/l/_sAtPmSg29xem
https://dl.doubtnut.com/l/_bzNF7kgD9DeK

Answer: D

° Watch Video Solution

6. Oxygen can be obtained from bleaching powder by:

A. the action of dilute acid

B. the action of alkali

C. heating it with lime

D. heating it with cobalt salt.

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_bzNF7kgD9DeK
https://dl.doubtnut.com/l/_3uL3dBHtbHpD

Exercise 2 Concept Applicator

1. A sodium salt on treatment with MgCl, gives

white precipitate only on heating. The anion of the

sodium salt is :

A HCO;
B.CO3~
C.NO;

D.SO;~

Answer: A

[ o WMiabk .\ daa Al ikl aa



https://dl.doubtnut.com/l/_3uL3dBHtbHpD
https://dl.doubtnut.com/l/_KoGJKlWasDqF

YVdalilil VIUCUV JUVUIULIVII ) |

2. A well known reagent which contains copper

sulphate, sodium potassium tartarate and sodium

hydroxidc is :

A. Fenton's reagent

B. Schiff's reagent

C. Fehling's solution

D. Nessler's reagent

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_KoGJKlWasDqF
https://dl.doubtnut.com/l/_4eNbe7Qo5bJU

3. Select the correct statements :

. Cs™ is more highly hydrated that the other alkali
metal ions.

ll. Among the alkali metals. Li, Na, K and Rb, lithium
has the highest melting point.

lll. Among the alkali metals only lithium froms a

stable nitride by direct combination with nitrogen.
A. LIl and llI
B.land II

C.land lll

D. 1l and IlI


https://dl.doubtnut.com/l/_LHtRyUmu2Mge

Answer: D

o View Text Solution

4. Which of the following acts as an oxidising as well

as reducing agent ?

A. NCL2O

B. Na03

C. NaNO

D. NG,NOQ

Answer: D

.y l


https://dl.doubtnut.com/l/_LHtRyUmu2Mge
https://dl.doubtnut.com/l/_9QQSkRlh1ggU
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5. How many of the following orders are correct :

(i) LiOH > NaOH > KOH (Solubility in water)

(i) LLHCO3 < NaHCO3 < KHCOQO3 (Solubility in
water)

(iii) LisCO3 < NayCO3 < KoCO5 (Solubility in
water)

(iv) LiCl > NaCl > KCIl > RbCl(Lattice energy)

A.1and 4

B.1and 3

C.1and 2

D.2 and 3


https://dl.doubtnut.com/l/_9QQSkRlh1ggU
https://dl.doubtnut.com/l/_uJW87PRX5mW1

Answer: A

o Watch Video Solution

6. Identify the correct statement

A. Elemental sodium can be prepared and isolated

by electrolysing an ageous solution of sodium

chloride.

B. Elemental sodium is a strong oxidising agent

C. Elemental sodium is insoluble in ammonia.

D. Elemental sodium is easily oxidised.


https://dl.doubtnut.com/l/_uJW87PRX5mW1
https://dl.doubtnut.com/l/_kzmqXGfJ31y2

Answer: D

o Watch Video Solution

7. Sodium sulphate is soluble in waterwhereas

barium sulphate is sparingly soluble because

A.the hydrogen energy of sodium sulphate is

more than its lattice energy.

B.the lattice energy of sodium is eugal to its

hydration energy.

C. the hydration energy of sodium sulphate is less

than its lattice energy.


https://dl.doubtnut.com/l/_kzmqXGfJ31y2
https://dl.doubtnut.com/l/_RPUkVzs35bAk

D. none of these

Answer: A

o Watch Video Solution

8. Sodium cannot be extracted by the electrolysis of

brine solution because

A. electrolysis cannot take place with brine

solution.

B.sodium reacts with water to produce

NCLOH ‘|— Hz.


https://dl.doubtnut.com/l/_RPUkVzs35bAk
https://dl.doubtnut.com/l/_3VNRAlaiOZ9T

C.sodium being more electropositive than

hydrogen H, is liberated at cathode and not

sodium.

D. none of these

Answer: C

° View Text Solution

9. The raw materials of the Solvay precess are

A. NCLQCO?), CG,CO?) and NHg

B. NaySO4, CaCO3 and N Hj


https://dl.doubtnut.com/l/_3VNRAlaiOZ9T
https://dl.doubtnut.com/l/_pQRweu66SAAZ

C.NaCl, NH; and CaCOsg

D. NaOH, CaO and NH;.

Answer: C

o Watch Video Solution

10. The ease of adsorption of the hydrated alkali

metal ions on ion-exchange resins follows the order:

ALT < K" < NAT < Rb™

B.RV" < KT < Na' < Lit

CK"™ < Nat <Rb" < Li"


https://dl.doubtnut.com/l/_pQRweu66SAAZ
https://dl.doubtnut.com/l/_KU2cVT30b6WS

D.Na™ < Lit < KT < Rb"

Answer: B

° Watch Video Solution

11. The spectrum of He is expected to be similar to

that of

AH

B. Na

C.Li"

D. He™"


https://dl.doubtnut.com/l/_KU2cVT30b6WS
https://dl.doubtnut.com/l/_NlVB1UT14aCg

Answer: C

o Watch Video Solution

12. Polyphosphates are used for softening agents

because they

A.they form soluble complexes with anionic

species

B. they precipitate out cationic species

C.they form soluble complexes with cationic

species.


https://dl.doubtnut.com/l/_NlVB1UT14aCg
https://dl.doubtnut.com/l/_KMaaHm9Zj4H3

Answer: D

° Watch Video Solution

13. Which property of sodium is being used in street

lights ?

A. It shows photoelectric effect.

B. It has low melting point.

C.Sodium atom emits photons in the yellow

region of visible spectrum, due to electrically

stimulated transitions.

D. Sodium vapour show golden colour.


https://dl.doubtnut.com/l/_KMaaHm9Zj4H3
https://dl.doubtnut.com/l/_xPpoNI2EcMGD

Answer: C

° Watch Video Solution

more CO-

4. KO, + COy + Hy0 222 2% 1X] 1 ]

Products [X] and [Y] are respectively:

° Watch Video Solution

15. Which of the following matals is sensitive to a
wide range of photons from the entire visible range

of the electromagnetic spectrum?

A. Li


https://dl.doubtnut.com/l/_xPpoNI2EcMGD
https://dl.doubtnut.com/l/_iHuuGF4p4PSV
https://dl.doubtnut.com/l/_8kpKh9jo8G8v

B. Na

C.GCs

D. Sr

Answer: C

o Watch Video Solution

16. Amongst LiCl, RbCl, BeCl, and MgCl,, the
compounds whith the greatrest and the least ionic
character respecitely are :

A. Li:Cl and RbCl

B. MgCl, and BeC(Cl,


https://dl.doubtnut.com/l/_8kpKh9jo8G8v
https://dl.doubtnut.com/l/_5z1EYRl9Q1L3

C. RbCl and BeCl,

D. RbCl and MgCl,

Answer: C

o Watch Video Solution

17. Which one of the following has minimum value of

cation/anion ratio ?

A. NaCl

B. KCI


https://dl.doubtnut.com/l/_5z1EYRl9Q1L3
https://dl.doubtnut.com/l/_f4QKWTQB0BNB

D. C&Fz

Answer: C

o Watch Video Solution

18. Which of the following statement is false?

A. Strontium decomposes water readily than

beryllium.

B. Bariu carbonate melts at a higher temperature

than calcium carbonate.


https://dl.doubtnut.com/l/_f4QKWTQB0BNB
https://dl.doubtnut.com/l/_3w8QG5P9r0i6

C. Barium hydroxide is more soluble in water than

magnesium hydroxide.

D. Beryllium hydroxide is more basic than barium

hydroxide.

Answer: D

° Watch Video Solution

19. The following compounds have been arranged in
order of their increasing thermal stabilities. Identify

the correct order.


https://dl.doubtnut.com/l/_3w8QG5P9r0i6
https://dl.doubtnut.com/l/_6YBB3r0sJWpS

Al <II<III<IV

B.IV <IIT<III <1

CIV <II < I<III

D.II < IV < III <1

Answer: B

° View Text Solution

20. Which of the following is/are correct for basic

strength:

A. MgO < BeO < CaO < BaO


https://dl.doubtnut.com/l/_6YBB3r0sJWpS
https://dl.doubtnut.com/l/_m85vTqZgMahH

B. BeO < MgO < CaO < BaO

C. BaO < CaO < MgO < BeO

D.CaO < BaO < BeO < MgO

Answer: B

o Watch Video Solution

21. Thermal stability of alkaline earth metal

carbonates decreases in order

A. BCLCOg > S’I“COg > CGCOg > MgCOg

B. BaCO3 > SrCO5 > MgCO3 > CaCOs


https://dl.doubtnut.com/l/_m85vTqZgMahH
https://dl.doubtnut.com/l/_UkJLzAEINhw3

C.CaCO3 > SrCO3 > MQCOg > BaCOs

D. none of these

Answer: A

o Watch Video Solution

22. Amongst the following hydroxides, the one which
has the lowest value of K, is:

A.Ca(OH),

B. Mg(OH),

C. Be(OH),


https://dl.doubtnut.com/l/_UkJLzAEINhw3
https://dl.doubtnut.com/l/_aUtju13wKQbj

D. Ba(OH),

Answer: C

o Watch Video Solution

23. Beryllium shows diagonal relationship with
aluminum . Which of the following similarity is

incorrect?

A. Be forms beryllates and Al forms aluminates.
B. Be(OH), like Al(OH), is basic.
C. Be like Al is rendered passive by HNQOs.

D. Bey (' like Al4Cj yields methane on hydrolysis.


https://dl.doubtnut.com/l/_aUtju13wKQbj
https://dl.doubtnut.com/l/_BdRWuBz0doL4

Answer: B

o Watch Video Solution

24. Choose the incorrect statement in the following

A. BeO is almost insoluble but BeSQOy is soluble

in water.

B. BaO is soluble but BaSO, in insoluble in

water.

C. Li1 is more soluble that KI in ethanol.

D.Both L: and Mg form solid hydrogen

carbonates.


https://dl.doubtnut.com/l/_BdRWuBz0doL4
https://dl.doubtnut.com/l/_OW0yiDffmyZu

Answer: D

o Watch Video Solution

25.100 mL of tap water containing Ca(HCOj3), was
titrated with N /50HCI with methyl orange as
indicator. If 30 mL of HCI were required, calculate
the temporary hardness as parts of CaCO; per 10°

parts of water.

A.150 ppm
B.300 ppm

C.450 ppm


https://dl.doubtnut.com/l/_OW0yiDffmyZu
https://dl.doubtnut.com/l/_kkZYJM8Zqhre

D. 600 ppm

Answer: B

o View Text Solution

26. Which of the following mixture is known as

morter?

A. CaCOs, sand and water

B. slaked lime and water

C. CaCO;3 and water

D. slaked lime and water


https://dl.doubtnut.com/l/_kkZYJM8Zqhre
https://dl.doubtnut.com/l/_zaO4rr4hzZvZ

Answer: B

o Watch Video Solution

27. A certain metal is used to prepare an antacid, this
metal accidentally catches the fire which can not be
put out by using CO, based extinguishers. The metal
is -

A.C

B.Ca

C.Mg

D. Na


https://dl.doubtnut.com/l/_zaO4rr4hzZvZ
https://dl.doubtnut.com/l/_uOqye6r3ENRI

Answer: C

° Watch Video Solution

28.The solublity of hydroides, fluorides of oxalates of

the metals of Group IIA

A. increases down the group.

B. decreases down the group.

C. varies randomly.

D. is constant.

Answer: A

.y l


https://dl.doubtnut.com/l/_uOqye6r3ENRI
https://dl.doubtnut.com/l/_VIbLihv2FxWd
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29. Match list-l with list-ii for the composition of
substances and select the correct answer using the

code given below the lists

List- List-ll
(Substances) {Cﬁmpnsitinn] '
(&) Plaster of paris (i) CaSO,.2HO
_ 1
(B) Epsomite () Cas0,. —E—H_.{:II
(C) Kieserile {iii} Mg50,. THO
(D) Gypsum (v) MgSQO,. H,O

(1) Al), B}, Cliuy, D{iv)

L @A) (B) (C) (D)
(i) (iv) (1) (i)
;. (&) (B) (C) (D)
(i) (i) (iv) (i)


https://dl.doubtnut.com/l/_VIbLihv2FxWd
https://dl.doubtnut.com/l/_awZUV5OUCPJP

c &) (B) (C) (D)

T(1) () (i) (iv

5 (A (B) (C) (D)

C(iv) (i) (i) (4)
Answer: B

o Watch Video Solution

30. Which of the following metal ions plays an

important role in muscle contraction?

AK™T
B. Na™

C.Mg>™"



https://dl.doubtnut.com/l/_awZUV5OUCPJP
https://dl.doubtnut.com/l/_yCKh4PhxHvBp

D.Ca’™

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_yCKh4PhxHvBp

